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Introduction

The test requirements for FDD/FDD Hard Handover are described in Section A5.2.1.1 Section A5.2.2.1 of TS25.133 for the intra-frequency case and inter-frequency case respectively.  It seems like the definition of these test cases can be improved to make them more efficient to implement and in-line with the inter-RAT case (which was changed in R4-040158).  

Relevant parts of both test scenarios are summarised in Figure 1.  
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Figure 1: Existing Test Requirements

The Measurement Interval is the time from the start of the interval T3 to the start of the new uplink DPCCH.  Note that T2 = 5s for the intra-frequency case.  

Proposed Changes

1. Re-define the start of the interval T3 to be the end of the TTI containing the RRC HHO command.  The measurement interval would then include TRRC + TInterruption.
2. Change the test requirements so that the SS can send the RRC HHO command as soon as possible after the event is received from the UE but in less than 10s, i.e. The length of T2 ( 10 seconds.  

The results of the proposed changes are illustrated graphically in Figure 2.  


[image: image2.wmf] 

T1 = 5s

 

T2 

£

 10s

 

T3 = 5s

 

HHO Command Received 

at UE

 

Activation time = “now”

 

Start of new 

uplink DPCCH

 

T

RRC

 

T

interuption

 

Start of T3 defined to be 

end of TTI containing 

hard handover command.

 

Power settings switched

 

Measureme

nt Interval

 


Figure 2: Proposed Test Requirements

Note T2 ( 5s for the intra-frequency case.  

Reasons for Change

1. Simplify the test case implementation.

2. Shorten the time required to complete the test.  

3. Align these test cases to the inter-RAT case, as it was changed in (R4-040158).  

Discussion

At the start of the interval T2 Cell 2’s power level is increased.  Accordingly, event 1A (for the intra-frequency case) or event 2C (in the inter-frequency case) is sent by the UE to the Node-B.  In response, the Node-B sends the RRC HHO command to the UE.  There does not seem to be any reason why in the practical test implementation the SS cannot send the RRC HHO command as soon as it receives the event report from the UE.  This could reduce the time required to run the test.  

Furthermore, this test can be simplified by re-defining the test, so that T3 starts at the end of the TTI containing the HHO command as shown in Figure 2.  Hence, the start of the measurement interval (the start of T3) is precisely defined.  

These changes do not effect the performance requirements of the UE, they only simplify the test implementation and reduce the time taken to run it.  

Required Actions

1. Agree that TS25.133 can be changed to redefine the start of T3 to be the time when the TTI containing the HHO command is received at the UE.   Hence, the test case would be successful if the time from the start of T3 when the new DPCCH starts is < TRRC + TInterruption .  

2. Agree that TS25.133 can be changed so the interval T2 is reduced by allowing the HHO RRC command to be sent as soon as possible.   

_1153754895.doc


T1 = 5s







T2 = 10s







T3 = 5s







HHO Command Received at UE



Activation time = “now”







Start of new uplink DPCCH







TRRC







Tinteruption







Power settings switched







Difficult to set this interval exactly at test setup.  Makes test impractical.







Measurement Interval
















_1153753983.doc


T1 = 5s







T2 ( 10s







T3 = 5s







HHO Command Received at UE



Activation time = “now”







Start of new uplink DPCCH







TRRC







Tinteruption







Power settings switched







Start of T3 defined to be end of TTI containing hard handover command.







Measurement Interval












